Voo 7/ 7

Racing Screerrs

L

SPORT SCREEN FOR

Q© ALLEN

FIX
Ne 3
N° 6 Ne 11

1 person

- Intermediate

Easy

Difficult

DESCRIPTION

1 Sport Screen 9435A/C/F/H/N/RAWM3
2 Right metal support (R) SOPOR-2P-7-9435
3 Left metal support (L) SOPOR-2P-7-9435
4 M5x11 @11 1SO7380 allen screw TORNI-AI----520

5 M5x1 nylon washer ARNV00000000245
6 @ M5 1SO7380 allen screw cap TAPON_ 85
7 M5x16 @11 ISO 7380 allen screw TORNI-17380-493
8 @ M5 silentblock SILENBTM5-046/1
9 ll\e/\:g;t71si)ecial screw Hexagonal TORNI-EC~---498
10 M8x45 DIN912 allen screw TORNI-AD912-508
11 @ @8,5x@314x9 arrowhead CASQUI___ 0100

Pg. 1/2


https://www.motorcycleid.com/puig/

Py

Racing Screers

SPORT SCREEN FOR

If you’re looking for quality motorcycle windshields & fairings, visit our website.


https://www.motorcycleid.com/windshields-fairings.html

